1. Complete the cryptogram

[~Jel=eTeleJrFrlslnlxzlalelelalmlaolrlalr [sTT JTulw [wwix]~ [T=]
[za]=1] [1=]a=Ta=] | [z=] | [ [= [a=] [ [ [ [z2=]=o] [ [1=1] ]
. S N e = F E E B A W X A W E E >, b B A
=1 = == = = = 1= 1= 1= = =1 1= 10 == =1 -3 1= 1= 1= == = 1s 1s =1 =
F E E 5> A 2 22~A A 2 2 E E A B E E M A . A~ E. . E
1= 1= 1= 1= =1 15 =1 =21 1 1= 1= -3 =21 1 1= 1= = =1 -3 =1 = == 1 1= = 10 1=
- 2 . BB A~ 20 E E T DB A
11 = 17 = = = = =t =1 = == 17 1= = 10 1= 11 == = 1 1 =1 =
. ~~Aa MM AaAa A A A B EE Mo xF A E E A
15 = =1 = = =1 1 =1 =1 =+ =1 1 15 15 = =1 == =1 =1 1= 15 15 =1
A B .. T L= NN = B = N T - B F E E B A Y 200 E E
15 =1 -1 = 17 = -1 -1 =1 == = 1 1 =1 = 1= 1= 1= = =1 1= 10 1= 1=
. = B = B~ N N = B .y A FO M A A
1= 11 11 == =1 1 = = L= 10 10 = 17 = 11 =1 1= i = = =1 =1 =
I S ., ... S .- B E E A . A B A
1 =21 -1 -3 =21 =21 -3 = =1 = 1= 1= 11 15 =1 -+ =21 1O = =21 == 1
X A 2 E E A I = S .. S o o - B E E
== =21 -1 1= 1= 15 15 =1 = 1 = 11 1= =1 10 == = 1= 1= 1= == =21 = 1= 1=
- - X, A E E___ A J D D A M A A A
11 =1 15 =1 == =1 =} 1= 1= 1= 1 == = 1 1 =1 = 17 = = =1 =1 =1 =1
i D N = S T e B . A B F E E A A B A
=1 1= 1 =1 =1 =1 ==t 10 =1 1= 1= 1= =1 10 10 =1 =1 = =1 =
A -~ A M A A A A ¥ B A - F oA
=1 1= =1 15 =1 1= 1= =1 i = =1 =1 =3 =1 =1 1= 1 =1 = = 17 =2 11 1= =1
A B E E A . EE B v T A AN B - F oA
10 =1 = 1= 1= 1= =1 = =1 =1 1= 1= = = == =1 =1 = L= = = 1= = 11 1= =1
E E - = [ =] [ =] B e E E Ly X X 4 P T o= A
10 1= 1= 1= 1= 1= = =21 1= 10 1= 1= 1> = = =1 =1 = =1 =1 1= 1= =1 =
A D E E A A B E E A > Db D A . S . S T -
1 =1 1 1= 1= = =1 == =1 = 1= 1= 11 =1 == = 1 1 =1 = =1 17 1= =1 =1 =
i T e I LS i T . SR = B = A O E E - E E -~ - B E E 0 A
=1 = = (=1 =1 =1 = 1 = = =+ =+ 15 15 1= 15 1= =1 15 17 =1 1 1= 1= = =1
- P I . e | | E E B P T E E P I . W O A B
15 =1 =1 =3 = = 1= 135 135 = =1 1= 10 1= 1= 15 =1 =1 1= 1-3 1-3 == =1 1
.. A B A . . B B WL B A w @ E E 2 JF 2 & & A
= =1 =1 = = =1 i = 17 = = = = = =1 1= 10 1= 1= == (=) 1= 1= =1 =
. AN A W . E E A . A B E E
1= (=] =1 = = =1 i = -3 = 11 1= 1= 1= 1= =1 1= =1 1= 1= 1= 10 i
_ . b B A = . BB I T N = B N o B b S ... SN .. WY —
== =1 1 1 =21 = = 1> = = = = =1 1= 1 =1 = -1 =1 = 10 =21 = =21 10 1=
E - ~Aa MNP a0 0 A a0 A A D E A - e T e B B S S =
1= 15 = =1 = = =1 1 =1 =1 1 =1 =1 1 15 =1 15 =1 =1 = = =1 =1 (=1 =
F E E E 2 A A A Y O B O O N
1= 1= 1= 1= 1 =1 =1 10 =1 1= 1= = = 1= 1= =

2. Rewrite the text in Arabic: Beware of unfriendly letters, long vowels and changes to the letter in the
beginning, middle and end of the word
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3. Fill in the table with generic language from the text

Intensifiers Connectives Prepositions Opinions Descriptions

4. Translate the text into English

5. Write a similar text about your house and where you live: Use descriptions, opinions,
connectives and intensifiers
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Answer:

Askunu fee bayt jameel jiddan fee dawaahee madeena manchester. uhibbu manchester
jiddan liannahaa madeena jameela wa muhimma jiddan. Fee baytee yoojadu sitt ghuraf.
Hunaak hammaam kabeer wa matbakh jameel wa ghurfat juloos kabeera wa jameela jiddan.
Hunaaka aydan maktab fee attaabaq al-awal wa hunaaka aydan ghurfat abee wa ummee
bujaanib ghurfatee. fee baytee hunaaka aydan hadeeqa kabeera jiddan, ahyaanan usaaidu
ummee fee al-hadeega. laakin fee baytee laa yoojadu masbah. Uhibbu baytee jiddan

liannahu mureeh wa hadeeth jiddan. Uhibbu aydan mintagatee liannahaa haadea wa annaasu

feeehaa tayyiboon.
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